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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2017 

 

Subject Name : Design of Concrete Structure   
 

Subject Code : 2TE05DCS1                       Branch : Diploma(Civil) 

    

Semester : 5              Date :22/3/2017         Time : 2:30 To 5:30             Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 
(5) IS : 456-2000 and SP:16 are allowed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)   Give the minimum number of longitudinal bars to be provided in circular column. 

(A) 8 Nos (B)6 Nos. (C) 2 Nos (D)3 Nos 

1 

 b)  Maximum diameter of reinforced bar for RCC slab. 

(A) 1/8 × total thickness of slab (B) 1/6 × total thickness of slab (C) 1/2 × total thickness of 

slab (D) 1/10 × total thickness of slab 

1 

 c)  Angle of bentup bar is  

 (A)30°   (B) 48°   (C) 45°   (D) 90°    

1 

 d)  Give the nominal concrete cover for sever exposure. 

(A) 20mm (B) 30mm  (C) 45 mm  (D) 50 mm 

1 

 e)  What is minimum percentage of steel required for a beam and slab when grade of steel is Fe 

250. 

(A) 0.34 %  (B) 050 % (C) 0.60 % (D) 0.80 % 

1 

 f)  Give the condition of minimum eccentricity for column. 

 (A) l/500 + D/30 (B) l/500 - D/30   (C) D/500- l/30 (D) D/500× l/30 

1 

 g)  Calculate minimum tension steel area required for a 230 × 450 mm effective beam using Fe 

415. 

(A) 211.98 mm
2 
(B) 260 mm

2
 (C) 400 mm

2
 (D) 320 mm

2
 

1 

 h)  Calcution minimum area of steel required for a column size 300 × 300 mm.  

(A) 850 mm
2
 (B) 720 mm

2
 (C) 1500 mm

2
 (D) 1620 mm

2
 

1 

 i)  Flexure strength of concrete grade M-30 

(A)2.0 N/mm
2
 (B) 3.83 N/mm

2
 (C) 4.80 N/mm

2
 (D)3.5 N/mm

2
 

1 

 j)  Which Type of Failure Occur in Under reinforced section?  

(A) Brital failure  (B) Ductile Failure (C) (A) & (B) Both (D)None of these 

1 

 k)  If the Main steel is provided in shorter side of salb only then that slab is called ________ 

(A) one way Slab  (B) Two way slab (C) Flat Slab (D)All of these 
1 

 l)  Over Reinforced Section is failed by_____________ 

(A) yielding of steel  (B) Crushing of concrete (C) Crushing of steel  (D)None of these 

1 

 m)   Maximum Water/cement Ratio for RCC is ______________ 1 
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 (A) 0.60 (B) 0.45  (C) (A) 0.50 (D) 0.55 

 n)  Spacing of Longitudinal Bar in Column Shall not exceed_________________ 

 (A) 25mm  (B) 200mm   (C) 300 mm  (D) 150 mm 

1 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) Design for tension and compression reinforcement for a rectangular beam of 300 mm × 700 

mm overall. The beam is simply supported on 6 m span and subjected to super imposed load 

of 80 kN/m over entire span. Use M-20 concret mix and Fe-415 as steel reinforcement show 

the reinforcement details of beam. 

10 

 (b) Write down the criteria of beam  for deciding URS, ORS & Balanced Section.   4 

Q-3  Attempt all questions (14) 

 (a) Explain the Assumption of limitstat of collapse for flexural member & Compression member. 10 

 (b) Explain the Stress strain curve for steel as per IS 456:2000. 4 

Q-4  Attempt all questions (14) 

 (a) A reinforced beam of size 300 × 580 mm overall has to resist a factored moment of 350 

kN.m. use concrete M-15 and Steel Fe-415 and Calculate required reinforcement. Assume 

effective cover 40 mm wherever necessary. 

8 

 (b) Give the Definitions of Following: 

(a) Characteristics strength value (b) Design Strength (c) Modular ratio (d) Partial Safety 

Factor (e) long column (f)  Neutral axis.  

6 

Q-5  Attempt all questions (14) 

 (a) A one meter single flight RCC staircase is to be provided for a height of 2.70 m in a 

residential building. Staircase is supported at top and bottom risers by beams 300 mm wide. 

Waist slab is 150 mm thick. Riser 180 mm and tread is 300 mm evaluate : 

(a) effective span (b) design load ( c) reinforcement in waist slab. 

Use M-20 grade concrete and Fe-250 grade steel 

14 

Q-6  Attempt all questions (14) 

  Design a continuous one-way slab having three equal span of 3.5 m each with the following 

data: 

Imposed load 5 kN/m
2 
, Floor finish load 1 kN/m

2
 , concrete grade M-20 and Steel Fe-415.    

14 

Q-7  Attempt all questions (14) 

 (a) Draw the Detailing Sketch of one-way slab which was Designed in Q-6. 07 

 (b) Draw the Detailing of Stair sketch which was Designed In Q-5. 07 

Q-8  Attempt all questions (14) 

 (a) A RC column of size 500 mm × 500 mm is supported by slopping of size 2100 mm × 2100 

mm. the net upward pressure is 270 kN/m
2
. Find out the depth of footing & Design the 

reinforcement for footing. 

10 

 (b) A Circular column 300 mm  diameter and 5.5 m height is effectively held in position and 

direction at one end only held in position at other end. Use minimum  % of steel. Use M-20 & 

Fe-415. Find the Strength of column.. 

04 
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Q-1  Attempt the following questions: 

 

(14)  

 a)  કોરભ ભાટે સળ઱માનો ન્યનુતભ વ્માસ કેટરો હોલો જોઈએ? 

 (A) 8 Nos (B)6 Nos. (C) 2 Nos (D)3 Nos 

1 

 b)  આય. સી . સી સ્રેફ ભાટે પ્રફરક સળ઱માનો ભહતભ વ્માસ જણાલો. 
(A) 1/8 × સ્રેફની જાડાઈ (B) 1/6 × સ્રેફની જાડાઈ (C) 1/2 × સ્રેફની જાડાઈ (D) 1/10 × 

સ્રેફની જાડાઈ 

1 

 c)  ફંટ઩ સળ઱મા ભાટે કેટ્રઆ અંળ ન૊ ખુણૉ હૉમ      

(A)30°   (B) 48°   (C) 45°   (D) 90°    

1 

 d)  સેવલમય કન્ડીળન ભાટે કોન્રીટનુ ં ઓછાભા ંઓછુ કલય કેટલુ ંહોવુ ંજોઈએ? 

 (A) 20mm (B) 30mm  (C) 45 mm  (D) 50 mm 

1 

 e)  જમાયે ઩ોરાદ ગ્રેડ Fe 250 હોમ ત્માયે ઩ાટ અને સ્રેફ ભાટે ઓછાભા ંઓછા કેટરા ટકા ઩ોરાદ 
જરૂયી છે? 

 (A) 0.34 %  (B) 050 % (C) 0.60 % (D) 0.80 % 

1 

 f)  સ્તબં ભાટે રઘતુભ ઉત્કેન્રતાની ળયત આ઩ૉ. 

 (A) l/500 + D/30 (B) l/500 - D/30   (C) D/500- l/30 (D) D/500× l/30 

1 

 g)  230 × 450 ભીભી અસ%યકાયક ઩ાટ ભાટે ખેચાણ ળલબાગભા જ૊ઇતા રઘુતભ સળ઱માની ટ્કાલાયી ગણ૊. Fe 415. 

લ્મ૊. 

 (A) 211.98 mm
2 
(B) 260 mm

2
 (C) 400 mm

2
 (D) 320 mm

2
 

1 

 h)  300 × 300 mm. ના સ્તમ્બ ભાટે જ૊ઇતા રઘુતભ સળ઱માની ટ્કાલાયી ગણ૊. 

 (A) 850 mm
2
 (B) 720 mm

2
 (C) 1500 mm

2
 (D) 1620 mm

2
 

1 

 i)  જ૊ કંક્રીટ M-30 લા઩યલાભા આલે ત૊ તેની ફ્રેક્જ્ર્ર તાકાત ગણ૊. 

 (A)2.0 N/mm
2
 (B) 3.83 N/mm

2
 (C) 4.80 N/mm

2
 (D)3.5 N/mm

2
 

1 

 j)  અંડયયંપ૊સસ ળલબાગભા કેલા પ્રકાયે તુટ્ળે ? 

(A) ળિટ્ર (B) ડ્કટાઈર (C) (A) & (B) ફન્ન ે(D) આભાથી એક ઩ણ નહી 

1 

 k)  જ૊ ભુખ્મ ઩૊રાદ સ્રેફની નાની ફાજુ ઩ય ઩ાથયલાભા આવ્મા હ૊મ ત૊ તે સ્રેફ કેલા પ્રકાનો થળ?ે 

(A) એક ફાજુ લા઱૊ સરેફ  (B) ફે ફાજુ લા઱૊ સરેફ  (C) તેકા લગયન૊ સરેફ (D)આ઩ેરા ફધાજ. 
1 

 l)  ઓલય યંન્પ૊સ્ભંન્ટ ના કાયણે ઩ાટ કેલી યીતે તુટ્ળ?ે 

(A) ઩ોરદ ના ખેચાલને રીધે (B) ક૊ન્ક્રીટ્ના તુટ્લા ને રીધ ે(C) ઩૊રાદના તુટ્લાથી  (D)આભાથી એક ઩ણ 

નહી. 

1 

 m)  આય.સી.સી ભાટે ભહતભ ઩ાણી/ સીભંટ ન૊ ગુન૊તય   કેટ્ર૊ હ૊મ છે? 

(A) 0.60 (B) 0.45  (C) (A) 0.50 (D) 0.55 

1 

 n)  સ્્ભબભા રામ્ફી ફાજુભા સ઱ીમાઓ લચેની જ્ગ્મા ક૊ના કયતા લધાયે ના હ૊લી જ૊ઈએ? 

(A) 25mm  (B) 200mm   (C) 300 mm  (D) 150 mm 

1 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) ૩૦૦ mm × ૭00 mm ના રફંચોયસ ઩ાટડાને સાદી યીતે ટેકલેર છે તેના ઩ય રગ્તો જીલન્ત બાય 

૮0 kN/.m છે. તેની રફંાઈ ૬ ભી છે તો દફાણ ઝોન ભા ંઅને ખેચાણ ઝોનભા ંઆલતા સળ઱મા ની 
ગણતયી કયો તથા તેનો વ્માસ ઩ણ ગણો. M 20 કોન્રીટ અને Fe 415 સ્ટીર રો. તેન૊ સ્કેચ ઩ણ ફનાલ૊. 

10 

 (b) ORS & Balanced સેક્ળન નક્કી કયલાભાટે ની ળતો જણાલો. 4 
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Q-3  Attempt all questions (14) 

 (a) ફ્રેક્જ્રજય અને દાબ્નીમ ઘટ્ક ભાટે રીભીટ સટેટ ઓપ ક૊રેપ્સ ની ધાયણાઓ સભજલ૊. 10 

 (b) ઩૊રદ ભાટે ન૊ સ્રેસ સ્રૈન કલસ આઈ. એસ-૪૫૬:૨૦૦૦ પ્રભાણે સભજલ૊. 4 

Q-4  Attempt all questions (14) 

 (a) ૩૦૦ mm × ૫૮૦ mm ના રફંચોયસ ઩ાટડાને સાદી યીતે ટેકલેર છે તેનુ ંઅલયોધક નભન ૩૫૦ 

kN.m છે. ફનેં ફાજુઓથી તેનુ ં અસયકાયક કલય ૪૦ mm છે તો  દફાણ ઝોન ભા ંઅને ખેચાણ 
ઝોનભા ંઆલતા સળ઱મા ની ગણતયી કયો તથા તેનો વ્માસ ઩ણ ગણો. M 20 કોન્રીટ અને Fe 415 

સ્ટીર રો. 

8 

 (b) નીચેની વ્માખ્મા આ઩૊. 

(a) કેયેક્રીસટીક તાકાત (b) ડીઝાઈન તાકાત (c) ભોડયરુય ગણુોતય (d) સેફ્ટી પેક્ટોય (e) રાંફ૊ સ્તંબ  

(f)  ન્યરુર એક્સીસ 

6 

Q-5  Attempt all questions (14) 

 (a) એક યહણેાકં ભકાનભા ં2.7 m ની ઊચાઇ ભાટે, એક ભીટય ઩હો઱ાઈ ધયાલતી વસંગર ફ્રાઈટ આય. 
સી. સી સ્ટેયકેળને 300mm ઩હો઱ાઈના ફીભ ઩ય ટેકલેર છે. લેઈસ્ટ સ્રેફની જાડાઈ 150 mm, 

યાઈઝય  180 mm અને રેડ 300mm છે. તો ( a) અસયકાયક ગા઱ો, ( b) ડડઝાઈનરોડ અને 

(c)લેઈસ્ટ સ્રેફભા ંસ્ટીરની ગણતયી કયો. M 20 કોન્રીટ અને Fe 250 સ્ટીર રો. જીલતંબાય 3 kN/ m2 
રો . 

14 

Q-6  Attempt all questions (14) 

  3.5 m ના 3 સયખા સ્઩ાન ભાટે લન લે સ્રેફ ડડઝાઈન કયો. 
રાઈલ રોડ 5 kN/m

2, ફ્રોય પીવનસડ રોડ 1 kN/m
2, કોન્રીટ ગ્રેડ-20 અને સ્ટીર ગ્રેડ Fe-415.   

14 

Q-7  Attempt all questions (14) 

 (a) પ્રશ્ન-૬ ભા ડીઝઈન કયેરા દાદયા ભાટેન૊ સ્કેચ દ૊ય૊. 07 

 (b) પ્રશ્ન-૫ ભા ડીઝઈન કયેરા સ્રેફ ભાટેન૊ સ્કેચ દ૊ય૊. 07 

Q-8  Attempt all questions (14) 

 (a) એક RC કોરભ કે જેની સાઈઝ ૫00 mm × ૫00 mm અને ૨૧૦૦ × ૨૧૦૦ ભીભી ના ઢા઱લા઱ા સાદા 
ટેકા ઩ય ટેક્લેર છે. અ઩લડડ પોસડ 2૭0 kN/m

2 છે. ફૂડટંગ ની ડપે્થ નક્કી કયો અને યંપ૊સ્ભેટ નક્જ્રકી કય૊ . 
કોન્રીટનો ગ્રેડ M20 અને સ્ટીરનો ગ્રેડ Fe-415 લા઩યો. 

10 

 (b) એક ગ૊઱ાકાય ૩૦૦ ભીભી વ્માસ અને ૫.૫ ભી અસયકાયક ઉચાઈ સ્તંબ ભાટે ઓછભા ઓછુ ઩૊રદ લ્મ૊.  M20 અને 
સ્ટીરનો ગ્રેડ Fe-415 લા઩યો.સ્તંબ ની તાકાત ગણ૊. 

04 

 


